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515 iS4 ( Number Systems and Codes )

B %H iln\'gnau

1. FE4EFA7 U] (Positional Number System) IS, LAK 12k (Decimal). k] (Binary ).
J\EH (Octal) fe+75H] (Hexadecimal) H5E Lo

2. HEARTUEIEL CBEREG )\ERIECL R N R R AR B )

3. HERAETRERIE BT KnRisHE 5%,

4. HERAFSH _SRBMETTE: 5 8UER (RS (Signed-Magnitude). —iEHIFME
(Two’s-Complement). il (Ones’-Complement).

5. HERFEAD. AMD. RIS =FhdmbE i A B .

6. HARHTF S 0 BRI N v

7. %42 BCD 4 (Binary Codes for Decimal Numbers, BCD). #&15 (Gray Code) K447 7 =LA
Jo 5 kA TR R A B R o

=, HRGIERARAT

(6111 DURREARIZHEAESA AR P2 IERN, 5 L ASEs b R 2 .
1. 23+44+14+32=223 2. 302/20=12.1
[##R1E 5]

p-1
TR 2 I F A D= Zd,. xr' s o, r HEL d RS BUE, D BB RN

B LAFEMRR, W DABHEEON R, ARG THECRI s 5k, BB R B—Jc i s
e, MTifEsS R F{E.

[#EE]

1. WHECH B, BRI ECHIIE EIEN], 158 2R AR

2B+3+4B+4+B+4+3B+2 = 2B*+2B+3

i AR HEC B=5 5

2. WHHCN B, &GRS FIEN], %5 S CRT DUk

(3B*+2)/(2B) = B+2+1/B

LM S Ch B=4 .

[0 1-2) 15K 22.75,, 70 a7 gkl $, )\t hBom — gk

[#RRHE S ]

WA TR S LA IR, 55 B HG  FINEGER 3 AN 7 T T8

FERCEB I PV RAR T s B TR s, N I, W FE B2 EB B R /B LA N,
LA, PG N IR o B ARAL: AR H EIRBREERI R PR N, BB REE N
N BEHEBECTE A OIRARAT s HOSSHE, —ERIBRERIR R 0 A1k, FEE TR sekE.

NEGR Y AR T ¥z DB NG e UL N, ORI EEEG o, 1E )G N
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201 1

205 1

202 0

> [1 075x2=15 1 L2
0 F=¥ A 05%x2=10 1 l oA

(a) BB $e Bt (b) /DHCH I e

B i 1-2 kg

FiLA, 22.75,, =10110.11, . J\HEHIECRI+/SdtHEmT UMBGRFE e, KBIZET, ¥ bifmitie
P (I BR ORI e o3 7l a8 A1 16 EIRT

BN, A NHERIPHEAE 0~15 2B N R: 0 1. 24 3. 4. 5. 6. 7. 8. 9. A, B, C. D,
E. F.
[#RE]
22.75,, =10110.11, = 26.6, =16.C,
(51 1-3) ikt 47.39,, Fiol I8, EREHERE R B 2/ NBUS S 3 4.
[REES]
BHEERHHE S [F) 12 M, FinEEsr NG e :

039x%x2=075 0| ®fr
078 x2=156 1
056x2=1.12 1Y &4

USRI, NEGH /M R FRAR R E R S TCIEIL R 0, PTLATE BEORBE BT a IRRERE, BV nl— 3k
s TR B 2N AR 3 A

[#R%E]

47.39,, =101111.011,

(6 1-4) iK1k 56.48,  Fetfept 3 HIEL BRFEHITRE N e <107,

[#2RE =]

BRI HeTEAER T (6] 1-2), R = EZE A TN A e .

NI BT B IR 2 ACHEIE R 0, P EAREE BT AORRL . Fefk —HEHIBU R 2k
He<107, 107 ZARE B BERIEI NEUS S WAL, Fl —IEHIBUR N A e =27 <107, n=7,
JIT LA £R B 30 0 i, — REHIEUR /NS 7 A

[#R%]

56.48,, =111000.0111101,

[511-5] it R ISR A

1. 10110.11, 2. 26.67, 3. F4.25,

[#2EEF]
p-I1
AR AKX D, = Zbi xN', g HABESI B Bk b Horh, N A RER R0 3
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B NOWERLBGE; i (BUER [-n,p—1]: b i AR L AN R T LA
(R I VEAT

10110.11, =1x2* +0x 2% +1x 2% +1x2' +0x2° +1x 27" +1x272 = 22.75,,

26.67; =2x8' +6x8" +6x87' +7x87 =22.8594,,

F4.25,, =15x16' +4x16° +2x16™" +5x167° = 244.1445,

[##&]

1. 10110.11, =22.75,, 2. 26.67, =22.8594,, 3. F4.25, =244.1445

[511-6] ik —dEHI%0101101.1101, Fspl) G HIECR N5

[#RREES]

W BRI o) \ RO /S HERI B B R

BB HHE: DA BB NSO 2 S, IR 22 3 0 (4 ) BRI RO 1
J\HERIE (o SHERIED, ATEOAS 2 7E AL 05

VANS 651175 0 R S v 1 G SV S i 1 O (7 [ P SR S I VAR D b 51 - ' /3 R VA
JUGHHIEC CHANBERIEO, AEEON R IR 0.

[#E]

101101.1101, = 55.64, = 2D.D,,

(61 1-7)  i#HF 33164 el /N HI%L

[#RRES]

WA IS — AN, RS AR B, Sk )\
B B, PRSI R AR TN

MNTHE LRI R KA B CHANBERIED el gt HIE I ridog, 80Ul
I CHABERIED, T 360 (467 —skhilE.

B BHTHRSERT [ 1-61 H 5.

FRCAZRB RS FE W e 33.16, =011011.001110, = 1B.38,,

[##E]

33.164 = 1B38,,

[511-81 50 A5 Han Far 45 £ — 2k 8-bit J5hS, SASAIAML.

1. —99, 2. 453, 3. 128, 4. 0,

[##Rite =]

MTIERIN S, A fMS. Sebl 3 Mgmtd B, #O=RASAL (MSB)  “0” hn E&(HAL.
Hor, BUEAT RN 2B AR E R D

MNP, R AN 53 Pl I EAR . A AL “17 I 8B, $
{EAL RN TR AERHE RN REGZFFSAL “17 I EEUEAT, BAE Rk RS EE AL B A U 5
FNERAFSAL “17 N EBAEL, BUEAL A RAGEAEAL IR +1 .

-99,,» HIRESA 11100011, Hr MSB (FmA AL “17 AFFS6L, Fonf's, JEE 1100011
BB, AR 995 A4 10011100, MSB ATARFS AT,  FE A W SRR S A (A7 HUR ;
AN AE ARG AR+ A2, RIC 10011101

+53,, I JAS . AN e fd 3 FigwmbAflE], #HOLRFSAL “0” , I EEUENZ 0110101 CHAEA 53),
3 TP A 00110101 BB AT 507 23 Ll H 2K 8 {7

—128,, SR S S ERHE T 8-bit THEGER [-127,+127], MUEEFRR. (BREAMYKTHEGE



4 BT ERO A R SR R 55 ) AT (R SUR)

Bl [-128,+127] Z W o« HAa ikl LU .M IPE TR e « M IRF 547 AT LA R -2 IRBLEE,
e, n AMSIOAEL ZAETH A 8. JITEL—128,, IEUE N 0, BIILAMIS 10000000;

0, MRASRI S AL A+0 F1-0 253, #MiBIIZE— 4 00000000.

[#7E]

1. =99,, =11100011; =10011100; =10011101,;

2. +53,,=00110101; = 001101015 = 001101014

3. —128,,=10000000,, CEAGHSiGEE L T HHEGEED

4. 0,y = 00000000, (10000000 ;) = 00000000 4 (111111115 = 00000000, 4

[611-91 — A HEHIEAMNDZ 10110, , L 8-bit ~HEHIFMLE L D2

[fRREES]

101105 9 5-bit )~ 3EHIFMG, 470K A R3] 8 47, WG Sk AR A 5-bit (FJ5AS, 411010, .
HE, — MM AMLR RS AR RS MRS BAMD R R, #2 RS AR, BUEATE
RN o BT RS A RN A Z B A E, #T RAESALIN 0, ASBURHAE. BrLAnT BATEJR
PTG RL AN O, AEHIAF] 8-bit, 2510001010, » FREHARRAMD, J77EZH 6] 1-8), 11110110, -

[#2E]

10110,55 = 11110110,

[511-10] % A (#%M54 11111001, % B [##Mi5% 11010101, %7 C fI%M54 01111101, 1E5
WNHTHE, Hhe RS

1. -A-B 2. -A+B 3. AC

(RS ]

W5 I —HERIBUE 5o — I AMSIE S, BRI FIRXR:

(Pl Ly = [BEINE 5 + I - BB I RIS AMD

[~A =Bl =[-Alyg +[-Blygg» CHTA BIEMG, K-A BAMIRT A EME: F— A KNS
PEHUR: B, A EUEAIRR N 1o BTEAZE [-Alyy = 00000111 5 [FHE, [-Bl, = 00101011 .
JIt EA [-A =B,y = 00000111+ 00101011, — ZE 5 b i B O i 3 —, M &g /oA
[~A =Bl = 00110010 .

H A AN R B, WURPENE AR RN AR, WAt SR, WREANF
FSmBMmm, HeEmARMmmsE i M MmARNE, Wi, 8 1 A @Edg
[~A —Blyye = 00000111+00101011 g PANFIRF 5 (ORI, {H2, S5 AR AROI3E A7 iy A7 S
A0, WO R

[~A + Bl = [~Aly + Bl =00000111+11010101= 11011100 , Fii 058 J& 1 55— Fb s,
MO AR

[A—Clyg =[Alys +[~Clyg =11111001+10000011= 01111100 , Hig A A MBI 0,
B R 1, HeEE . SISk, NS AN RGN, RN IER, 4R BAA IR, JRATHERTH
fEAEi o

[#2E]

1. [FA-Bly, =00110010  JGiith 2. [FA+Bly,, =11011100 Kt

3. [A=Clyy =01111100  A7iiith

[ 1-111 5505005 L R #5001 8421BCD i, 2421BCD 5, 4% 3 4 A% .
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1. 79, 2. 1101101, 3. FE,

[#EES]

8421BCD fi5. 2421BCD fidfi4 3 i/t BCD 4, Ei-iEHlgmid. Agmid&n—0r (0~9) i+
B S B ERTER, DO A . b, 8421 1 2421 iZfhgmiui
KEEAL EAGE, HRMAGLIERS WEN . & 3 F27E 8421BCD MEf%ERtz i 0011 mfE2fi.

PR RS AR A R

TSN n A —BEBIRIRA (b, b,y by ), » SAETHEIDA (8,18, 2 €180 gy » —BRFN

g, =b®b, (i=0,1,-,n-2)
&r1 =byy

X, (b, b, @b,y b, @b, b @b b ®Oby)y,, » HHb, AEm ALK L.

T AR LA SR TR

1. 794 =0111 1001gy,5cp =1101 111154505 =1010 1100 4355 =1001111, =1101000, 5.7

2. 1101101,=109,, = 0001 0000 1001g,5c, = 0001 0000 111154500

=0100 0011 110045, =101101 4,4
3. FE4 =255,=0010 0101 0101g, 5cp = 0010 1011 1011,4,5¢p
=0101 1000 100055, =11111111, =100000004 ;7

[#2Z%]

1. 79,5 =0111 100155 ;50p =1101 111155 505 =1010 1100455, =1001111,=1101000 .1

2. 1101101, = 0001 0000 1001gy,5c, = 0001 0000 11114500

=0100 0011 11005, =10110114.,7
3. FF4=0010 0101 01014 5cp = 0010 1011 101155 50p
=0101 1000 100055, =11111111, =100000004 ;..

=. 3@
(0080 1-1 43 kAT an B Hhl e 4 .
1. (120), =( )2 2. (39),=( )7 3. 97 =( )i
(318 1-2) IR T FEchE e, EkiEitEe <1072,
1. (22.37), =( ), 2. (35.49), =( )6 3. (16.68), = ( b
(2008 1-3) S i FHEEREoe R G b hg, G+ akh%.
1. (28.5), 2. (38.75),, 3. (7.125),
(200814 7S B FRF-5 507 8-bit —BEHIRD . KASFIAMY .
1. (+45),, 2. (=37 3. (—47),
(2358 1-5) 20505 B RS20t bR sag, RAESFIFMGD
1. (+17.5), 2. (-12.75),, 3. (-9.25),,

[/ 1-6) =%,
1. SR S R A . AN S OFASTE ) 4 10010101, 111010104 10010110,

Hr, 10010101 o ( ) fith, 11101010 %o ( ) 1, 10010110 7R
( ) 1.
2. CAIREC A2 1010101, DIZHEOM R RS i ( )y AN ( Do

3. 24110011101, 11100010, 10011110 A —BEEIE A 5. s, #ME (BFEAE), W



6 e FF AR B R 4R R B S A MAT (P RIIR)

( ) AR, ( ) s ft, ( ) sEAME .
[ 1-7] %,
1. (F6.A), =( Do = ( )s =( )8421BCD
2. B28)s=( k=0 )=( ) 3w
3. (102)4 =( 2= D)o =( Y

()8 1-8] ikFf.
1. (36.7),, %1 5121BCD fi5 /& ( )e

A. 01101001.1010 B. 00111100.1110
C. 00110110.0111 D. 00110110.1110
2. b4 (726),, ¥ 2421BCD it ¢ )
A. (110100101100) 5450 B. (011110000110) 54 5cp
C. (110110000110) 545,5cn D. (011100100110) 5450
(218 191 UM 8 A2 —HEfIRMY e T o1+t E iz .
1. (+78),0+ (+35),0 2. (=56),, —(41),, 3. (=81),, +(-49),,
4. (-93),,+ (+49),, 5. (+67),0+ (+72),
[/ 1-10] %A =-(27.625),,» B=+(20),,, K:
1. (A)y 2. (B)y 3. (AxB), 4. (A+B)y 5. (A-B),

[0 1-11) 4077 A% 1011 1101 0100 0000 0000 0000 0000 0000 [RIES 1 AL EFFSAr, H52~9
PEERY, FRAL AR SRS N 1A

M. SEEE

(208 1-11 3 b T dn B e e
L)
1. (120), =(1111000), 2. (39),,=(54), 3. (97) =(61);, =(3D);,
(28 1-2] MR T FECRRAR, SRR e <107
(%]
1. (2237),, =(00010110.0101111), 2. (35.49),, = (55.253),
3. (16.68),) = (10.AE),
[0 1-3) 2005 ko M i — kb g. et oNaehis.
(]
1. (28.5),, = (11100.1), = (34.4); = (IC.8), = (0010 10000101}, 501
2. (38.75),, = (100110.11), = (46.6); = (26.C),
=(0011 10000111 0101)g4y,pcp
3. (7.125), = (111.001), = (7.1)g = (7.2),, =(0111.0001 0010 0101)
(218 1-4) 23505 M BRF540r) 8-bit —dEHlJshd. AGFIMD.

(G229 |
1. (+45),, = (00101101),, = (00101101);, = (00101101)

2. (=37),y = (10100101)5 = (11011010) 5 = (1101101 1)
3. (=47),) = (10101 111)5, = (11010000) 5, = (11010001) 4,
(218 1-51 70505 i FAF 550 —BERAS . S Angheg .

8421BCD
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(%]
L. (+17.5),5 = (010001.10) 5, = (010001.10),; 4 = (010001.10),
2. (=12.75),5 = (101100.11)5 = (110011.00) 5y = (110011.01)4
3. (=9.25),) =(101001.01) 5 = (110110.10) 55 = (110110.11),45
[ 1-6] 7.
O]
1. =, J&, 4 2. 1101010, 1010110 3. 11100010, 10011101, 10011110
(>80 1-7] %
(%]
1. (F6.A),, = (246.625) ;= (366.5); = (001001000110.011000100101)g,,5cp
2. (B2.8), = (262.4); =(178.5),, =(10110010.1),
=(010010101011.1000) 4.7
3. (102); =(01000010), =(66),, =(01100011) . pu
[/ 1-8] iE#%.

[z

1. A 2. A

(=38 1-91 M 8 L=+ se b 41+t ras.
(%]

L. (+78),0 + (+35),) =(01001110) ., +(00100011) , = (01110001) ,
=(113),, T

2. (=56),, —(41),y = (11001000) ,, +(11010111) , =(10011111)
=(-97), T

3. (=81),) +(=49),y = (10101111) 4, +(11001111) 4, = (01111110)
# (~130),, A

4. (=93),, +(+49),, = (10100011) , +(00110001) , =(11010100) ,
= (—44),, Joti

5. (+67),0 + (+72);5 = (01000011) ,, +(01001000) , = (10001011)
#(139),, A

[3181-10] #®A=-(27.625),,, B=+(20),,, 3K:

(R ]

1. (A)y =100100.011 2. (B), =010100 3. (AxB), =10111010111.1

4. (A+B), =111000.011 5. (A-B),, =11010000.011

[ 1-11] S40F A% 1011 1101 0100 0000 0000 0000 0000 0000 RIS 1 A7 AR5, 55 2~9
PR, RN REL SRR N )i
(%% ]
FFEfi=1, FrLAZECH 7ELG
HRE=REENIN ‘1.7, BTl AL
Fes = Irid-fWAg & 127 =01111010-01111111 =-5;
GRS AR ST . Frlh, A2 = 0.000011;
—(0.000011), = —(0.046875),,

[ T S O R S
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V. Exercises

[Exercise 1-1] Perform the following number system conversions.

1. (120)0 =( )2 2. (3910 = )7 3. 97 = )16

[ Exercise 1-2]  Convert the following decimal numbers, keeping the conversion error € smaller than 107,

1. (22.37)10=( )2 2. (35.49)10=( )o 3. (16.68),0=( )16

[ Exercise 1-3] Convert the following decimal numbers into binary, octal and hexadecimal.

1. (28.5)10 2. (3875 3. (16.125))

[ Exercise 1-4] Write the 8-bit signed-magnitude, two’s complement and ones’ complement representations
for each of these decimal numbers.

1. (+45) 2. (3o 3. (47

[ Exercise 1-5] Write the 8-bit signed-magnitude, two’s complement and ones’ complement representations
for each of these decimal numbers.

1. (+17.5) 2. (-12.75)1 3. (-9.25)

[ Exercise 1-6] Fill in the blanks.

1. Knowing that the equivalent signed-magnitude, two’s complement and ones’ complement codes (the
order is not sure) of a decimal numbers are 10010101, 11101010 and 10010110, then 10010101 is

( )representation, 11101010 is( J)representation, 10010110 is( )representation.

2. Knowing that the two’s complement of one number is 1010101, then the corresponding signed-
magnitude is( ), and the two’s complement is( ).

3. Knowing that(10011101), (11100010) and (10011110)are the signed-magnitude, two’s complement
and ones’ complement represents (the order is not sure), then ( )is the signed-magnitude,
( )is two’s complement, and( )is ones’ complement.

[ Exercise 1-7] Fill in the blanks

1. (F6.A)s=( )10= ( )e = ( )8421BCD

2. (B2.5)=( %k =( 22=( ) #3m

3. (102)s =( )2 =( o= ( ) H

[ Exercise 1-8] Choose the correct answer.
1. The 5121BCD code of (36.7);01s( ).

A. 00110110.0111 B. 00111100.1110
C. 01101001.1010 D. 00110110.1110
2. The 2421BCD code of the decimal digit is ( )
A. (110100101100) 24218cp B. (011110000110)24218cp
C. (110110000110) 24218cD D. (011100100110)24218cp

[Exercise 1-9] Add the following pairs of decimal numbers with the corresponding 8-bit two’s complement

represents, indicating whether or not overflow occurs.

1. (#78)10+ (+35)10 2. (=56)10(41)i0 3. (810t (4910

4. (-93)i0t (+49)10 5. (670t (+72)0

[ Exercise 1-10] Suppose that A = —(27.625) ;o and B = +(20) . Then finish the following computation.
L. (A) two's complement 2. (B) wo's complement 3. (Ax B) two's complement

4. (A+B) two’s complement 5. (A_B) two’s complement
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[Exercise 1-11] Knowing that the floating-point digital 1011 1101 0100 0000 0000 0000 0000 0000
represents 1 sign bit in the beginning, 8 exponent bits in the middle, and 23 mantissa bits in the end. Convert

this floating-point binary into decimal.
VI. Exercises Solutions

[ Exercise 1-1]  Perform the following number system conversions.

[ Solution]

1. (120),0=(1111000), 2. (3910 =(54) 3. 97 =(61)10=(3D) s

[Exercise 1-2] Convert the following decimal numbers, keeping the conversion error & smaller than 10,

[ Solution]

1. (22.37);0=(00010110.0101111), 2. (35.49),0=(55.253)s 3. (16.68),0=(10.AE)s

[ Exercise 1-3] Convert the following decimal numbers into binary, octal and hexadecimal.

[ Solution]

1. (28.5),=(11100.1),=(34.4)s=(1C.8),,=(0010 1000.0101)g4218cp

2. (38.75),6=(100110.11),;=(46.6)5=(26.C);=(0011 1000. 0111 0101)s42pcp

3. (7.125),5=(111.001),=(7.1)s=(7.2),6=(0111.000100100101 342 pcp s

[Exercise 1-4] Write the 8-bit signed-magnitude, two’s complement and ones’ complement representations
for each of these decimal numbers.

[ Solution]

1. (+45),6=(00101101) signed-magnitude =(00101101) gnes’ complement =(00101101) 1yo's complement

2. (=37)10=(10100101)signed-magnitude =(11011010)gnes' complement =(11011011 )yo's complement

3. (—47)10 =(10101111)signed-magnitude =(11010000)0nes’ complement =(11010001)iyos complement

[Exercise 1-5] Write the 8-bit signed-magnitude, two’s complement and ones’ complement representations
for each of these decimal numbers.

[ Solution]

1. (+17.5)15=(010001.10)signeq-magnitude =(010001.10)ones compiement =( 010001.10)yos complement

2. (=12.75),6=(101100.11)signed-magnitude =(110011.00)gnes’ complement =(110011.01)ey's complement

3. (-9.25)10=(101001.01)signed-magnitude =(110110.10)gpes’ complement =(110110.11)yo's complement

[Exercise 1-6] Fill in the blanks.

1. Knowing that the equivalent signed-magnitude, two’s complement and ones’ complement codes (the
order is not sure) of a decimal numbers are 10010101, 11101010 and 10010110, then 10010101 is

( )representation, 11101010 is( )representation, 10010110 is( )representation.

2. Knowing that the two’s complement of one number is 1010101, then the corresponding
signed-magnitude is( ), and the two’s complement is( ).

3. Knowing that(10011101), (11100010) and (10011110)are the signed-magnitude, two’s complement
and ones’ complement represents (the order is not sure), then ( )is the signed-
magnitude,( )is two’s complement, and( )is ones’ complement.

[ Solution]

1. two’s complement, signed-magnitude and ones’ complement
2. 1101010, 1010110 3. 11100010, 10011101, 10011110
[Exercise 1-7] Fill in the blanks.
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[ Solution]
1. (F6.A);6=(246.625) = (366.5)s = (001001000110.011000100101)g421cp
2. (B2.8);s=1(262.4)y =(178.5),0=(010010101011.1000) £xcess-3 code
3. (102)s =(001000010), = (66 )i1o=(001100011) Gray code
[ Exercise 1-8] Choose the correct answer.
[ Solution]
1. C 2. A
[Exercise 1-9]1 Add the following pairs of decimal numbers with the corresponding 8-bit two’s complement
represents, indicating whether or not overflow occurs.
[ Solution]
1. (+78)10% (+35)16= (01001110) twos complement T(00100011) o5 complement
= (01110001 so's complement== (113)10 without overflow
2. (=56)15~(41)10= (11001000) wo's complement H(110T0111) yo's complement
= (10011111) go's complemen=(—=97)10 without overflow
- (=81)1H(=49)10= (10101111) twos complement H(1TO0TTIT) twe's complement
= (01111110) swo's complement # (—=130)10 with overflow
- (=93)10H(+49)10= (10100011) two's complement T(00110001) s complement
= (11010100) s complemen= (—44)10 without overflow
5. (+67)16H(+72)10= (01100011) tye's complement T(01101000) syors complement = (11001011 )
#(139)9 with overflow
[Exercise 1-10]  Suppose that A=(27.625) o and B=+(20) ;o. Then finish the following computation.
[ Solution]
1. (A) wo's complement = 100100.011 2. (B) wos complement =010100
3. (AXB)wos complement = 10111010111 4. (A+B) wo's complement =1000.011
5. (A-B)wos complement = 1010000.011
[Exercise 1-11] Knowing that the floating-point digital 1011 1101 0100 0000 0000 0000 0000 0000
represents 1 sign bit in the beginning, 8 exponent bits in the middle, and 23 mantissa bits in the end. Convert

W

S

this floating-point binary into decimal.

[ Solution]

1. Sign=1 — it is negative

2. index =01111010--01111111 — index=5

3. Terminal = 0.100 0000 0000 0000 0000 0000+1 — terminal=1.1

4. real number =move the radix point of the terminal number to the left for five bits — real number =
—0.000011

5. decimal=—(0.046875),0



